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AT 1% 1 & 175 BT 652 0&KH FRiAFE4H1H
I RT 1K1 1% FIGET 1659 33FH 1 Fpk4tF4H 1R
AT 1K 2 345 FIGRT 1657 83FH 1 Fpk4fE4H 1R
IGET (1% 2 45 FHIRFET 657 9% pk4EE4H 1TH
FIGET (2% 85 FIGET 1649 7&K VRRAFE4 1 H
HIGET 1238 9= FIRET  i6 4 9 8% 4 pk4EE4H 1TH
HIGET (2% 1 0% FHIRFET  i6 4 9 2% pl4EE4 ] 1TH
HIGET 2% 1 0% FIFET  i6 4 9 2% 4 VRRAFE4 1T H
MIGET 2% 1 2% FIET  i6 4 9 2% 4 V4G4 1H
FIGET 2%/ 1 9% FIGRT 16 4 9 4 %KM Fpk4tE4H 1R
FHiRRT 3% 15 HIRHT 16 50 0 &M FRAFE4 A 1H
FHiFET  i3% 3% FIRRT  i6 50 371 pl4EE4H 1TH
e 3% 4% FIRFET 6 50 42 plAEE4 ] 1TH
G 3% 52 FIET 16 4 8 0 %M 2 V4G4 1H
FFET  13% 6 = FIRET (6 4 8 2% 1 plAEE4 ] 1TH
HiFET 3% 9% FIRET i6 3 1 1% pk4EE4H 1TH
FIGET  i3%& 1 0% FIRFET  i6 31 1% 3 V4G4 1 H
FIGET 3% 1 3% FIRFET 16 31 1%&H V4G4 1H
FIGET  i3% 1 8 & FIGRT 16 3 1 3% Fpi4tE4H 1R
FIGET  i3% 1 9% FIGRT 16 3 1 5% Fpk4tE4H 1R
HIGET  i3%2 0% HIFFET 6 3 1 6 & pl4EE4H 1TH
FIGET (3% 2 35 FIGRT 16 3 2 1 %KM Fpk4tE4H 1R
HIGET 3% 2 652 FIGRT 164 9 1 %KM Fpi4tF4H 1R
FHIRRT (4% 15 FHIRHET 16 5 1 0 &M R4 1H
FFET (4% 3% FIRAT (64 7 2% 6 plAEE4 ] 1TH
HIRHT 4% 85 HIGET 164 7 27K 5 V4G4 1 H
FIGET (4% 1 4% FIFET 16 4 7 5% V4G4 1 H
FIGET (4% 1 75 FIFET 16 4 7 7 %&KH VRRAFE4 1 H
HIEHT 5% 55 FIGET  :6 56 4% V4G4 1 H
FiFET 5% 7% FIRET  i6 55 4 %1 plAEE4 ] 1TH
FHFRT 5% 8% FIRET  i6 55 9 %M1 pk4EE4H 1TH
FIGET  i5& 1 1% FIGRT 16 55 3% Fpi4fE4H 1R
MIGET 5% 1 25 HIRFET  i6 55 2% 1 pkAEE4 ] 1TH
MIGET  i5% 1 3% FIET 16 55 0% V44 1 H
FIGET  i5& 1 4% FIET  i6 55 1 %M1 VRRAFE4 1T H
HIGET 5% 1 6% FIIFET 16 55 0 &H VRRAFE4 1 H
FIGET  i5& 1 7% FHIRFET 655 1%&H1 pk4EE4 ] 1TH
FIGET 5% 1 9% FIGRT 16 4 6 0 %KM Fpk4tFE4H 1R
HIGET  i5%&2 0% FIET 16 4 6 0% V4G4 1 H
HIGET 5% 2 2= HIFET  i506 3% V4G4 1T H
HIGET (5% 2 35 HIRFET (6 4 6 5 %1 pkAEE4H 1TH
FIGET  i5% 2 4 52 FIFET 16 4 6 6 & V4G4 1 H
HIGET 5% 2 5% FIFET 16 4 6 4 %&H V4G4 1 H
MIGET  i5% 2 8 & FIGRT 164 7 1% Fpk4tE4H 1R
FGET 5% 3 1% FHIRFET (64 7 0% 3 pkAEE4 ] 1TH
IR 6% 2% FHIRRT  :5 0 6 8 & plAfE4H 1TH
FIRT  i6%& 4 5 FIRRT  i5 0 6 8 %KM Fpi4fE4H 1A
FHiFET  16% 5% FHIFRT 5 0 6 87 pl4EE4H 1TH
IR 6% 7% FHIRET 50 6 6 il pl4EE4H 1TH
AT (6% 8 & IR i5 0 6 6 %M Fpi4tE4H 1R
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HIFRT (6% 95 AT 150 6 5% Fpk4tE4H 1R
FIGET (6% 1 0% HIEET 1506 5% V494 1 H
HIGET  6&K 1 25 HIFET 1506 5% VRRAFE4] 1T H
HIGET (6% 1 55 IR :50 6 5 %M Fpi4tE4H 1R
HIGET  i6% 1 85 FIIRRT  i5 0 6 6 &M Fpk4tFE4H 1R
HIGET  i6/K 1 9% HIGET 1506 581 V4G4 1T H
HIGET 6K 2 2B FIRET 50 6 6 &2 pl4EE4 ] 1TH
HIGRT  i6% 2 35 FIRRT 150 6 6 &M Fpi4fE4H 1R
HIGET (6% 2 4% HIFET  :5 06 5% V4G4 1 H
HIGRT (6% 2 55 FIRT  i5 0 6 5 %M Fpi4tE4H 1R
HIGAT  i6% 2 65 AT 1506 5% Fpi4tE4H 1R
IGET 6 &2 75 HIFET  i506 5% V4G4 1 H
HIGET 6% 2 8 & FIRAT §50 5 2 %3 plAEE4 ] 1TH
IGET (6% 3 1% FIGET  :505 2% 6 V4G4 1H
HIGET (6% 3 2= FIGET  i520 6 &M 7 VRRAFE4 1 H
FIGET (6% 3 3% FIRAT 505 2 %M S pk4EE4H 1TH
FIGET (6% 3 452 FHIGET  i505 279 V4G4 1 H
HIGET (6% 3 652 HIFET 1505 275 VRRAF4 1 H
MIGET (6% 3 75 HIGET 1505 2 %FH Fpk4tE4H 1R
FIGET (6% 3 8 & HIGET (505 2 %FH Fpi4fE4H 1R
HIGET  i6&5 9% HIFET 1506 8%l VRRAFE4 1T H
FIGET  i7& 1 0% FIRET 506 1 %M1 pk4EE4 ] 1TH
IGET (7R 1R HIGET  i506 1%&H#1 VRRAF4 1 H
FIGET (7% 1 5% FIGET  i504 5%&H4 V4G4 1H
HigAT 8% 175 HIRE]  :50 8 5 &Ml FRAFAA1H
HIFRT (8% 2 & AT 150 8 5% Fpk4tFE4H 1R
FHiFET  i8% 3% FHIRRT 5 0 8 5 i plAfE4H 1TH
HiFET  i8% 4% FIRET  i50 8 6 &2 pkAEE4 ] 1TH
FGET P8 & 7 & FIGET  i50 8 6 &2 V4G4 1 H
MiGET 8% 1 3% FIRET 50 8 5% 1 plAEE4 ] 1TH
FIGET 8% 1 4% HIGET 1508 5% VRRAFE4 1 H
FIGET 8% 1 9% HIGET  i50 7 8% 1 Fpi4tFE4H 1R
HIGET 8% 2 0= FIRET 50 7 8 & ih plAEE4H 1TH
FIGET I8 &2 15 HIGET  :50 7 8% V4G4 1 H
FiGET 8% 2 35 HIGET  i50 7 8&H Fpi4tE4H 1R
HIGET 8% 2 4 = HIGET 150 7 8% VRRAFE4 1 H
FIGET 8% 2 55 HIGET  i50 7 8% V444 1H
HIGET 8% 2 6 5= HIGET 150 7 8 &K Fpi4tF4H 1R
FIGET I8 &2 75 HIGET  :50 7 8% V4G4 1 H
MIGET 8% 2 8 & HIGET  i50 7 4% VRRAFE4 1 H
HIGHET 8% 2 9= HIGET 150 7 3%H Fpk4tFE4H 1R
FIGET 8% 3 15 HIGET  i50 7 0% V4G4 1 H
FIGHET 8% 3 2 & HIGET 1507 0% V4G4 1 H
FIGET 8% 3 35 HIGET 1507 4% H Fpk4fE4H 1R
FIGET 8% 3 4 = HIGET  i50 7 1% V4G4 1T H
FIGET (8% 3 55 HIGET 1507 1% V4G4 1H
FGET (8% 3 8 HIGET  i50 6 6 FH Fpk4fFE4H 1R
FGET (1 1% 9= HIFFET  i5 1 3 23 plAfE4H 1TH
FGET P11 1% 1 0% HIRFET  i5 1 3 2 pl4EE4H 1TH
FiGET P11 2%/ 1 & FHIRFET  i51 3 9% pk4EE4 ] 1TH
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FIGHT i1 2% 5 & FIRET  i5140%H1 1 V4G4 1T H
IR RT 1 2%6 = FIGRT 151 4 0% Fpk4fE4H 1R
FIGET (1 2& 7= HIRFET  i5 1 4 1% pkAEE4H 1TH
FIGET i1 2& 9= FHIRFET  i5 14 0 %5 pk4EE4H 1TH
FigET i1 2% 1 35 FIFET  i5 1 4 3%&H VRRAFE4 1T H
IGET (1 2% 1 5% HIFFET  i5 1 4 33 plAEE4H 1TH
FiGET i1 2% 1 8% FIRFET 151 4 9%KH VRRAFE4) 1 H
iGET 1 2% 1 9% FIFET  i5 1 4 9 %KM V4G4 1T H
FIGET i1 2% 2 25 HIRFET  i5 1 4 8 Fih pl4EE4H 1TH
FiGEET (1 2% 2 35 FIFET  i5 1 4 7 %&KH V4G4 1T H
FIGET (1 2% 2 55 IR 151 4 7 %&KH VRRAFE4 1T H
FGET i1 2% 2 75 HIFET  i5 1 4 6 & plAEE4 ] 1TH
FGET (1 2% 2 8% FIFET 151 4 3%&H V4G4 1TH
FGET i1 2% 3 25 FIFET 151 4 5% V4G4 1 H
FiGET (1 2%/ 3 7%= FHIRFET (514 5%H5 plAEE4 ] 1TH
FGET i1 2% 3 8% FHIRFET  i5 1 4 5 %3 pk4EE4H 1TH
FIGET i1 2%4 152 FIGFET  i5 1 4 5% 2 V4G4 1 H
FIGET (1 2% 4 35 HIRFET  i6 4 2 5% pkAEE4 ] 1TH
FIGET i1 2% 4 45 FIET 16 4 2 5% V4G4 1H
FGET i1 2% 4 5% FIFET 16 4 2 6 & V4G4 1 H
HIGET (1 2% 4 65 FIRET 50 9 0 & pk4EE4H 1TH
FIGET (1 2% 4 7% FIFET 16 4 2 6 &M VA4 1T H
FIGET 1 2%4 95 FHIGET  i508 7&K 4 VRRAF4 1 H
FIGET i1 2%5 25 FIRET 50 8 7 %2 pk4EE4 ] 1TH
I RT 1 3% 1% FIGRT 16 4 0 0 %K Fpk4tFE4H 1R
FIGET i1 3& 2= FIFET 16 4 5 9 %KM VRRAFE4 1 H
FGET i1 3F 4 2 HIFET  i6 4 5 9 & plAfE4H 1TH
FGET 11 3%& 5 2 FHIRFET  i6 4 5 9 %3 pkAEE4 ] 1TH
FIGET i1 3F 7= FIFET 16 4 3 8 &M V494 1H
FGET i1 3%/ 9= FHIRFET  i6 4 3 8 &2 plAEE4 ] 1TH
FGEET i1 3% 1 0% MR 5 0 8 5% pl4EE4H 1TH
FGET i1 3% 1 1% HIGET  i50 7 1% V4G4 1 H
FGET i1 3% 1 55 HIRFET  i6 4 3 4 FHh pk4EE4H 1TH
FGET i1 3% 1 6% HIFFET 16 4 3 4 % pl4EE4H 1TH
FigET P11 3% 1 7% FIFET 16 4 2 6 & VA4 1T H
FEET i1 3% 1 8% FIRET 50 9 0 &t pl4fE4H 1TH
FEET i1 3% 1 9% FIRET 50 9 0 & plAEE4H 1TH
FGET (1 3% 2 0% FIFET  i6 4 2 7 %KM 2 VRRAFE4 1T H
FGET i1 3% 2 15 IR (64 2 7 &1 pkAEE4H 1TH
FigET i1 3% 2 25 FHIRFET (64 2 6 &1 pkAEE4 ] 1TH
FGEET (1 3% 2 35 HIRFET 164 2 6 &1 pkAEE4H 1TH
FGET i1 3% 2 45 HIFET  i5 1 4 8 Fih plAEE4H 1TH
FRAT i1 3% 2 5% FIRET 16 4 1 2 %M P44 1LH
HIGET i1 3%&26% HIGET 164 1 3% VRR4FE4) 1 H
AT 13%3 1% FIGRT 16 4 1 0 %KM Fpi4tE4H 1R
AT 13%3 2% HIGET 16 39 9%KHL4 FRiAE4AH1H
IR RT 13%3 4% HIGET 16 39 9%KH1 FRiAE4AH 1R
FEET 11 3% 3 5% HIRFET  i6 39 92 plAEE4H 1TH
FGET i1 3% 3 65 FHIRFET 6 39 9% 2 pkAEE4H 1TH
FGET (1 A& 7R FHIRFET  i6 39 1 %5 pk4EE4 ] 1TH
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AT 1 4%8% FIGRT 16 3 9 1 %KM Fpk4fF4H 1R
FGET i1 4% 1 35 FIGFET  i6 39 371 V4G4 1 H
FGET (14%1 9% HIRFET  i6 36 0 %6 plAEE4 ] 1TH
FIGET P11 4%2 152 FHIRFET  i6 3 8 0 %5 pk4EE4H 1TH
FiGET (1 4% 2 252 FIFET  i6 38 1 %M1 VRRAFE4 1 H
FGET (1 4% 2 35 FHIRFET (6 38 1% pk4EE4H 1TH
FIGET i1 4% 255 HIRFET  i6 38 271 pl4EE4 ] 1TH
FIGET (1 4%2 65 FIFET  i6 3 8 2% 7 VRRAFE4 1T H
FIGET i1 4% 2 75 FIRFET  i6 38 3% pk4EE4H 1TH
FiGEET (1 4% 2 85 FHIRFET  i6 3 8 8 &1 plAEE4 ] 1TH
FGEET (1 4% 2 95 FIET 16 38 6% 1 V4G4 1T H
FIGET i1 5% 2= HIFFET  i6 3 9 5% pl44E4H 1TH
AT 1 5%3% FIGRT 16 3 9 6 %K Fpk4tE4H 1R
FGET i1 5 &K 42 FIFET  i6 3 9 8 %2 V4G4 1H
FIGET (1 5% 5 2 HIRFET  i6 39 8 &2 plAEE4 ] 1TH
FIGET i1 5% 6 2 FHIRFET  i6 3 9 8 %3 pk4EE4H 1TH
FIGET i1 5% 7 & FIRFET 16 3 9 8 %Ki 3 V4G4 1 H
FGET 11 5% 8 & HIRFET  i6 3 9 7 & plAEE4H 1TH
FGET i1 5% 9= FHIRFET  i6 37 8 &1 pk4EE4H 1TH
iGET 1 5% 1 0% FIGFET P63 7 %M1 VRRAFE4 1 H
FGET (1 5% 1 1% FHIRFET  i6 37 7 &2 pk4EE4H 1TH
FGET i1 5% 1 25 HIRFET  i6 37 7%&MH2 pk4EE4 ] 1TH
FGET (1 5% 1 3% FIFET 16 3 7 7% 3 VRRAF4 1 H
HiHET i1 5% 1 45 FRHET 16 3 7 7 &M pl4EE4H 1TH
FiGET i1 5% 1 5% FIRFET  i6 3 7 7 %&KH V4G4 1 H
FIGET (1 5% 1 6% FIET 16 37 7 %KM 2 V4G4 1 H
FIGET P11 5% 1 7% HIRFET  i6 3 7 8 %3 pk4EE4 ] 1TH
FGEET (1 5% 1 8% HIRFET  i6 3 7 9 plAEE4H 1TH
FGET i1 5% 2 25 FIET  i6 3 8 0 %KM 2 V4G4 1 H
FiGET i1 5% 2 5% FHIRFET  i6 39 4% plAEE4 ] 1TH
IGET i1 6 &5 2 HIFFET 6 3 6 8 i plAEE4 ] 1TH
FIGET i1 6% 62 FIFET 16 3 7 6 &M V4G4 1 H
FiGET (1 6% 2 35 FHIRFET  i6 37 2731 pkAEE4 ] 1TH
FIGET i1 6%2 55 FIRFET  i6 36 5% pk4EE4H 1TH
HIGET (1 6%2 6% FIFET  i6 3 7 0 %KM VRRAFE4] 1 H
IGET (1 6%K2 75 HIRFET (6 36 1% pkAEE4H 1TH
FIGET i1 6%2 95 HIFFET  i6 3 6 0 plAEE4H 1TH
HIGET (1 6%3 0% FIFET  i6 35 971 VRRAFE4 1T H
FIGET i1 7 &2 FIRFET  i6 38 4 %1 pkAEE4H 1TH
MGET P17 R TR HIFFET  i6 2 9 8 i pkAEE4H 1TH
AT 1 7%9% HIGET 16 35 0%&KH1 FRA4H1H
IR RT 17%/K1 1% FIGRT 16 35 63FH 1 Fpk4fFE4H 1R
IR RT 17%1 2% HIGET 1636 2%&KH1 FRiAE4H1H
HIGET i1 7%&1 3% AT :6 3 5 3% V4G4 1 H
IR RT 17%2 0% FIGRT 16 35 2 %KM Fpi4fE4H 1A
IR RT 17%2 2% HIGET 16 34 5%H2 FRiAE4AH1H
IR RT 1 7%2 3% HIGET 1634 1%KH2 FRiAE4AH 1R
FGET (1 7% 2 559 FHIRFET  i6 34 1%H1 plAEE4H 1TH
FGET i1 7&K 2 8% FHIRFET  i6 34 0% pkAEE4H 1TH
FGgET P11 7% 2 95 FHIRFET  i6 34 0% pk4EE4 ] 1TH
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IGET (1 7% 3 0% FHIRFET  i6 34 0% pk4EE4H 1TH
FGET P11 7% 3 1% FIRFET  i6 34 0 %M1 V4G4 1 H
FGET P11 7&K 3 2% FHIRFET  i6 34 0% plAEE4 ] 1TH
FGET P1 7% 3 3% FIRFET  i6 34 0% pk4EE4H 1TH
FGEET P11 7% 3 45 FIGFET 06 34 0 %M1 VRRAFE4 1 H
FGET (1 7% 3 5% FHIRFET  i6 34 0% pk4EE4H 1TH
FGET (1 7% 3 6% FHIRFET  i6 34 0% pl4EE4 ] 1TH
FGET P11 7R3 7= FIFET  i6 34 0 %M1 VRRAFE4 1T H
FGET i1 7% 3 8% FIRFET  i6 34 0% pk4EE4H 1TH
FiGEET P11 7% 3 95 FHIRFET  i6 34 0% plAEE4 ] 1TH
FGET (1 7% 4 15 FIFET 16 3 3 8 &M 2 V4G4 1T H
FGET  P1 7% 4 35 FHIRFET  i6 3 3 8% pl4EE4H 1TH
FGET (1 7&K 4 45 HIRFET  i6 3 3 8 &1 plAEE4 ] 1TH
FIGET P1 7&5 15 FIET 16 3 8 4% 2 V4G4 1H
FGET (1 8 & 4 = HIRFET (6 27 7%&H4 plAEE4 ] 1TH
FIGET i1 8 &K 6 = FHIRFET 16 2 7 7 %3 pk4EE4H 1TH
FGET i1 8 & 7 = FIGET  i6 30 1%&H#2 V4G4 1 H
FGET 11 8 &K 8 = HIFFET 6 3 0 0 i plAEE4H 1TH
IR HT 1 8% 9% FIGRT 16 2 9 9 %KM Fpi4tE4H 1R
FiGgET (1 8% 2 7= FIFET 16 2 8 4 %KM V4G4 1 H
FIGET (1 8% 3 0% HIRET (6 27 7 &M 2 pk4EE4H 1TH
FGET i1 8% 3 55 HIRET (6 27 7 &M 2 pk4EE4 ] 1TH
FGET (1 8% 3 5% FIET 16 2 7 7 %KM 2 VRRAF4 1 H




